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PART A: Vocabulary

the sentence. Then mark the correct choice on your answer sheet.

ﬂirect‘fnns: Choose the number of the-answer(1);(2), (3), or (4) that best completes

1-  What is the formula for ---——--—-- pounds into kilos?
1) compiling 2) converting 3) associating 4) assembling
2- The government tried to --—-—---- the book because of the information. it contained about the
security services.
1) pursue 2) sanction 3) suppress 4) undertake
3- The study - to show an increase in the incidence of breast cancer.
1) purports 2) contends 3) sustains 4) implements
4- The research indicates that 4 out of 10 passengers ---------- the law by not wearing their belts.
1} flout 2} submit 3) revenge 4) eliminate
5- You must be able to make all -—--—nvmm- plans in the event of enemy attacks.
1) restraint 2} anticipation 3) consequence 4) contingency
6- In the eyes of the law, these two offences are ———--—--- each other,
1) on the verge of 2) on a par with 3Ipinview of 4) in the course of
7- In a number of developing countries, war has been an additional ---—-—-—--— to progress.
1) mediation 2) supplement 3) impediment 4) retardation
8- The company is reported to have ——--—- of mearly § 90,000,
1) ledgers 2) equations 3)insertions 4) liabilities
9- The ---—--—-- effect of using so many harmful echemicals on the land could be considerable.
1) distorted 2) cumulative 3) diminishing 4) compensatory
10- They have saved up a lot of money, so they can - afford to buy a bigger apartment,

1} equivocally 2) accessibly 3) analogously 4) presumably

—_—

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each blank. Then mark the correct choice on your answer sheet.

The body needs many different nutrients. These are various substances (11) ---------- provide
energy and the materials for growth, body-building, and body maintenance. Every day millions of
cells in the body die and must be replaced by new ones.

(12) ----------_foods contain all nutrients. So it is not just the guantity of food eaten that is
important, but also the variety. People who have enough (13) ---------- to them may still become ill
because they are eating teo much of one kind of food and not enough (14) -=aveeane,

To stay. healthy, we need. to eat a balanced diet. This means a diet containing the right

proportions of ‘the main nutrients. Many foods (15) ---------- ot these basic nutrients. A balanced
diet also contains enough enérgy (in the form of food) to power the chemical reactions of living
11- 1) necessary 1o 2) of necessity so as 3) 1o be necessary 1o 4) being necessity so as
12- 1) Not all 2) Not each 3) Neither do all 4) Neither each
13- 1) available food 2) food available 3) availability foad 4) food availability
14- 1) others 2) another 1) of another 4) of other
15- 1) have mixture 2) have mixing 3) are a mixture 4) are mixing
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PART C: Reading Cumprehensiu

In intercropping, there is often one main crop and one or more added crops, with the main
crop being the one of primary importance because of economic or food production reasons.
The two or more crops used in an intercrop may be from different species and different plant
families, or they may simply be different varieties or cultivars of the same crop species, such
as mixing two kinds of wheat seed in the same field. The most common goal of intercropping
is to produce a greater yield on a given piece of land by making use of resources that would
otherwise not be utilized by a single crop. Careful planning is required, taking into account
the soil, climate, crops, and varieties. It is particularly important not to have crops competing
with each other for physical space, nutrients, water, or sunlight. Examples of intercropping
strategies are planting a deep-rooted crop with a shallow-rooted crop, or planting a tall crop
with a shorter crop that requires partial shade. When crops are carefully selected, other
agronomic benefits are also achieved. Lodging-prone plants (those that are prone to tip over
in wind or heavy rain) may be given structural support by their companion crop. Delicate or
light sensitive plants may be given shade or protection, or otherwise wasted space can be
utilized. An example is the tropical multi-tier system where coconut occupies the upper tier,
banana the middle tier, and pineapple, ginger, or leguminous fodder, medicinal or aromatic
plants occupy the lowest tier.

The passage mentions that in intercropping -———————--,
1) The main intention is to increase crop produce

2) food production depends mainly on two erops

3) added crops are as important as the main crop

4) there are up to three added crops to a main crop

We may understand from the passage that ——--——-——,
1} single crops are not ofien economically efficient

2) intercropping relies more on soil than on climate

3) crops of the same height should.not be intercropped

4) cultivars of the different specics are of the same variety
It is stated in the passage that
1} lodging-prone plants are unable to stand heavy rain

2) intercropping needs a proper amount of sun and shade

3) shorter crops compete with each other for physical space

4) deep-rooted crops are suitable for intercropping strategies

The passage points to the fact that .

I) coconut 1s at least two times as tall as pineapple

2) the ginger plant may be as tall as aromatic plants

3) shallow-rooted plants are used as intercropped fodder

4) delicate plants give protegtion to their companion crops

The word ‘agronomic’ in the passage (underlined) refers to —-—--——-- *agriculture’,
1) “scientific’ 2) ‘regional’ 3) “climatic’ 4) ‘productive’
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Agriculture is one of the most hazardous industries, only surpassed by mining and
construction. Mo other farm machine is' so identified with ‘the hazards of production
agriculture. as the ‘tractor. Tractor related injuries aceount for approximately 32% of the
fatalities and 6% of the non-fatal injuries in agriculture. Over 50% is attributed to tractor
overturns. The roll over protection structure (ROPS) and seat belt, when worn, are the two
most important safety devices to protect operators from death during tractor overturns.
Modern tractors have rollover protection systems (ROPS) to prevent an operator from being
crushed if the tractor overturns. It is important to remember that the ROPS does not prevent
tractor overturns. Rather, it prevents the operator from being crushed during an overturn. This
is especially important in open-air tractors, where the ROPS is a steel beam that extends
above the operator's seat. For tractors with operator cabs, the ROPS is part of the frame of the
cab. A ROPS with enclosed cab further reduces the likelihood of serious injury because the
operator is protected by the sides and windows of the cab. ROPS were first required by
legislation in Sweden in 1959. Before ROPS were required, some farmers died when their
tractors rolled on top of them. Row-crop tractors, before ROPS; were particularly dangerous
because of their "tricycle’ design with the two front wheels spaced close together and angled
inward toward the ground. Some farmers were killed by rollovers while operating tractors
along steep slopes. Others have been killed while attempting to tow or pull an excessive load
from above axle height, or when cold weather caused the tires to freeze down, in both cases
causing the tractor to pjvot around the rear axle.

It is stated in the passage that ~———-———,

1) tractors may overturn even if they have ROPS

2) the tractor identifies many agricultural hazards

3) hazardous industries surpass mining and construction

4) 50% of fatalities in agriculture are due to tractor averturns
The passage mentions that .

1) the ROPS does not function without @ seatbelt

2) most overturns end up only in non-fatal injuries

3) ROPS today may be made up steel or synthetic material
4) ROPS are built into the operator cap.if a tractor has one
The passage points to the fact that ——————-—-,

1) the windows of tractor cap protect its sides

2) only some tractors used ROPS before 1959

3) tractors crush top of the farmer in an overturn

4) row-crop tractors would overtumn extremely easily

We may understand from the passage that —--—— -,

1) tractors should'not pull excessive loads

2) most tractor rollovers happen on steep slopes

3) a tractor’s réar axel pivots around the front axel

4) tractor overturns arémore frequent in the winter

The word “pivot’ in the passage (underlines) is best related to —--———- -—
1) ‘move’ 2) “tum’ 3) “circle’ 4) ‘go’
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The grain auger is used in agrlcultun‘. to move grain from trucks and grain carts into grain
storage bins (from where it is later removed by gravity chutes at the bottom). A grain auger
may be powered by an electric motor; a tractor, through the power take-offi or sometimes an
internal combustion-engine mounted on the auger, The heligal flighting rotates inside a long
metal tube, moving the grain upwards. On the lower end, a hopper receives grain from the
truck or grain cart. A chute on the upper end guides the grain into the destination location.
The modern grain auger of today's farming communities was invented by Peter Pakosh. His
grain mover employed a screw-type auger with a minimum of moving parts, a totally new
application for this specific use. At Massey Ferguson, young Pakosh approached the design
department in the 1940s with his auger idea, but was scolded and told that his idea was
unimaginable and that once the auger aged and bent that the metal on metal would, according
to a head Massey designer, "start fires all across Canada". Pakosh, lhowever, went on to
design and build a first prototype auger in 1945, and 8 years later start selling tens of
thousands under the 'Versatile' name, making it the standard for modem grain augers. A
specialized form of grain auger is used to transfer grain into a seed drill, and is usually quite a
lot smaller in both length and diameter than the augers used to transfer grain to or from a
truck, grain cart or bin. This type of auger is known as a "drill fill"'. Grain augers with a small
diameter, regardless of the use they are put to, are often called "pencil augers”.

26- The passage points to the fact that —-———,
1) grain storage bins are removed by gravity chutes
2} grain carts can usually be found in grain storage bins
3) grain augers working from grain carts are relatively big
4) grain augers need three sources of power in arder to run
27- It is stated in the passage that
1) hoppers can be either inside or outside a gram auger
2) the grain rotates around a metal tube in a grain auger
3) Pakosh’s grain mover did not have many moving parts
4) there were very few grain augers before Pakosh’s time
18- The passage mentions that —-—---eee-- .
1) it took about 8 vears to design an auger
2) augers were not at first thought to be safe
3) Pakosh was a head designer at Massey Ferguson
4) augers were considered as very complex machines
29- We understand from the passage that drill fills are -------- -

1) run by electric motors 2) a kind of pencil drill
3) of the same length and width 4} not only used to transfer grain

30- The word ‘helical” in the passage (underlined) is closest to moving in & —---——-—-— course.
1) “back and forth® 2)‘top to bottom’ 3) ‘zigzag’ 4) *straight’
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